ESL’L] k(—i\ﬁ)?—
' - L L
YUy = /Q/WAX (/Qn( £ Myq € :L/nga* ZQV’\) 1t 2

/&/@:o =)

A (./i“j.): /)CL\% th(,i_‘a )
a (Ay) = Mmak e (A=)
W (x b)) = ik cos Lot

X (K'C"L) -~ /‘\/\‘UL N C)(‘k&)

P(Lixg)iz forbanict) - co (-9) ~ ariy < /e (g ))
w(fixy) = At s (x-9)

(QoZm"fL@uﬂé

l/\o ) \/\ i ,’\4:\.&7_
£y g = /_Lt)’3 s h= AQ‘L _ Razwdca QaMoaf g & 3 W‘{ij
27 1’102 /io'\Y 5 l/\: /io‘\Z = O 5 /chfortd‘

Hhgby)is ordy (s ek Ehat 1) € e pocd o 1ghn,

(}7_\, b e i % @«AtfufJ_f(z >f24 T ( 4%

(9atta0 12 6p00) )W oo

A /i_ O[Vh%/o Ug
x{ae y
4 ‘%Uﬁ"‘{'ﬁilf L4t Lf?l)

detp

l:? 9

4« @{7‘2"2)(‘21}91;‘* }(2"’74) ¢ e M&fml«:

-t \'.‘.o A
o l”—ﬁég CFL




